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Median = 13

Mode = 3 x Median - 2 x Mean Mean = 13

Mode = ?

qifeIHT = 13

e =13 8)13
e b) 1
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Aman can complete a work in 30 days. If the efficiency of Aman is twice the
efficiency of Parul and the efficiency of Parul is thrice the efficiency of Charu,
find how many days will be taken to complete the work by all working together.

3107 30 &l T BRI Q1 PR Fohdl ¢ | Al 3HH DI &Tdl Ured P &HdT A Gl ©
3R Ured B &l 1% DI &HAT I i T o | I1d Pifoid [ gt & s s
U1 DA ¥ fbad fad i

a)
b)
C)
d)
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A certain sum of money was lent at 8% per annum simple interest and in 9
years the interest amounted to Rs. 2800 less than the sum lent. What was the

sum lent (in Rs.)?

U (T2 AR ATERUT TS UR 8% Uid dY @l & I IUR @l 7T 3R 9 9y H 3{fold
TS AT IYR @l T AR DI -1 H 2800 FUT DHH Bldll o | IUR Al T3 AT

(9T H) 1 g7

a) Rs. 10000
b) Rs. 12000
C) Rs. 18000

d) Rs. 11200
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Rs. 12000 deposited on compound interest becomes double in 5 years. If it is
deposited for 20 years on same compound interest, then this amount becomes

dehdls STSl UR SHT U 71U 12000 $YY 5 a8 H GRIH 8l Oid g | Afc 39 G
IehdlG STl UR 20 aY & feTU ST fhdT SITdl @, dl 9g AR fdha-t gl Sl

a) Rs. 129000
b) Rs. 219000
C) Rs. 921000

d ) Rs. 192000
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If 3 men or 4 women can reap a field in 43 days then the number of days in
which the field can be reaped by 7 men and 5 women is -

gfc 3 gy A1 4 AigdU 43 fe-i § fhl Wd &1 Herg dR dbd o, dl 7G9Nl 3R 5
afgarsii gRT fod- fei J Jd &t ders &I ol Tdhdl © -

a) 12
b) 10
c) 15
d)




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

A square and a circle have equal perimeters. The ratio of the area of the square
to the area of the circle is

U i1 3R Uh g o GRATY JHM g | 97

_‘1.

&AW DT Id & &FAhd I

3UId 572
a) 1:1
b) 1:4
C) m:2

d) m:. 4
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P can complete a work in 12 days and Q can complete the same work in 16
days. They both started working together. Q left after some days and the whole
work was completed in 9 days. After how many days did Q left?

P U ®I Bl 12 fad T U1 R bl & R Q 39 DRI Bl 16 fad T U1 HR bl
g1 39 Gl - U 1Y SR HRAT U= [hd1| TS (¢ dla, Q BRI BISHR Idl T
3R Ul ®rd 9 faq & g1 fhar /1| Q A fbodH {6 91 o ®is faar?

a) 8 days

b) 4 days
C) 6 days

d) 10 days
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A train running at a speed of 126 km/h crosses a car running at a speed of 72
km/h in 40 seconds when both are running in the same direction. What will be
the length of the train in meters?

126 [FHdHe/"er o Tid A 9d Iol Uh XS], 72 fhdrdie/de &l Td 9 9d

6l Uh PR I 40 YHUS H UR Bl © oid al-l U ol (4= H als I8 ol | JaiTs!
D THETg Hiex H g1 g

a) 500 meters
) 600 meters
C) 900 meters
d) 450 meters
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The simple interest on a sum deposited at 8% p.a. for 8 years is Rs. 16,000.
What will be the compound interest on the same sum at one fourth of the above
rate of interest for 2 years?

8% Ufd Y @ a3 J o1FT AT TR 8 T b foIT JTYRU AT 3. 16,000 51 2 I &
[T 1S DI SWRIdd &R P Up-dIYTs UR I AT W Fehdle SATS T GRTT?

a) ® 1.020

b) . 980

C) %.1,010

d) 2. 1,015
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A shopkeeper sells two items at Rs. 5,000 each. He gains 20% on one and
loses 20% on another. On an overall basis, what is his gain or loss percentage?

Uh GhHaR &l a&g3Hl T ¥ YD @l 5,000 394 U a9dl ¢ | 39 U axd IR 20%
Y 3R GIRI 93 WR 20% Bl BI Bidlt o | Tl AAdR, 391 a1y A1 gl Uid=rd
w152

o
a) 4% gain

b) 4% |oSS

C) 3% gain

d) 3% loss
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HR department of a firm allots average salary per head of whole staff as Rs 140
and average salary of 5 executives is Rs 120, average salary per head of
remaining staff is Rs 150. Calculate total staff in the firm.
Wtﬁﬁﬂ@aﬁﬁwwmﬁqﬁﬁuﬁaﬁﬁ 3HI-d dd 140 3 3R 5
HTIUTAD| B 3MFd dd- 120 3T, N HHATRAT Bl ™I da- 150 Y 31l
HIA1 ¢ | BH H Dd DHATRYS DI AT JId BIfor |

a) 20
b) 25
C) 15
d) e
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A shopkeeper marks his goods 30% higher than the cost price and allows a
discount of 10% on the marked price. In order to earn 6.5% more profit, what
discount percent should he allow on the marked price?

Udh GhFGR 3O d¥d3ll TR v e o 30% 3118d Hed 3ifdbd Bl g 3R 3ifdbd
T | 10% DI JT odl 5l 6.5% SffdRad Ay fSld @ & oY, 39 3ifdbd Jed
9R fohaHl B ¢l a1gu?

a) s
b) ¢
C) ¢
d) 55
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When two trains were running in the same direction at 80 km/hr and 90 km/hr
respectively, then the faster train passed a man sitting on the slower train in 54
seconds. Find the length of the faster train.

S| Gl XCANITSAl U ol [G=1T H ShHRT: 80 fasHi/Eer 31k 90 fohi/eer &t wifd 3 9d
ot dt dl do1 Yare! i YeTSt § 46 U aAfdd Bl 54 9 s H R Hdl ol dol
IAMS! Bl dEl5 1A HIOTY|

a) 100 metres
b) 150 metres

C) 190 metres

d) 170 metres
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A student was asked to multiply a number by % but he divided that number by
%. His result was 10 less than the correct answer. The nhumber was:

U BT B UH WA D 3 A 0N S & Q7T BT 747 T, Wb I 3 TS
2 1qUTISIT T | ST IR Wel IR T 10 HH AT| W of:

a) 20
b) 15
C) 12
d) 1o
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Suresh gives 25 percent of an amount to his wife, 45 percent to his daughter,
and 20 percent of the remaining part to his son. If Suresh is left with Rs. 4800,
then how much did Suresh have in the beginning?

] U AR DT 25 UIIRIT 3191 Ul Dl, 45 U= 39- Gt Dl 3R Y HAT &I
20 Uf=Id 30 U Bl odl g | dfc = & U 4800 YU WY 5, dl URY T RA &
O fhaHt i dt?

a) Rs. 40000
b) Rs. 25000
C) Rs. 10000

d) rs. 20000
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What is the total number of odd factors of 12607
1260 & [AYH IUFRIS] P Dl AT FT 572
a) 36
b) 12
c) 16
d) s
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Person X borrows Rs. 18000 at 20% compound interest. He pays Rs. 5000 at
the end of the first year. How much is required for him to pay at end of the

second year?

Al X, 20% Thdls sAT9l TR 18000 ¥UY IR ol 5 | 98 Ugd 9y o 3fd T 5000
ST DT YA Bl o | TR Y & 3id H I fba11 YT DR Pl AHaahl

gi?

a) Rs. 17.820
b) Rs. 19,920
C) rs. 18720

d) Rs. 16,820




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

Pintu sold an article at a loss of 10%. If he had sold it at Rs. 180 more, he would
have made a profit of 2%. The cost price of the article is:

[Uc Us 9% 1 10% D! gli4 IR «49dl o | Alc 98 9 180 3T 3{[¥d Hed UR o,
dl 3 2% DT 1Y gIdT| 9% BT vy Jed HT 5?2

a) Rs. 1800
b)Rrs. 1350
C) Rs. 1500

d) Rs. 1650
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A person spends 80% of his income. If his income is increased by 20% and his
expenditure is increased by 10%, then his savings will increase by:

Uh Afdd Y- 3T DT 80% 4T Dl § | Tl 3! 3 H 20% Pl 9l 65 © 3R
39 T H 10% Bl dig 8l il g, dl 3GP| gad H gl g

3) 60%
b) 50%
C) 40%
d) 30%
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A person reaches the hospital with a speed of 15 kmph at a delay of 4 minutes
from the hostel. If he used to ride a bike at a speed of 20 kmph then it would

reach 4 minutes early. Find the distance between the hostel and the college? (in
Km)

giq PIs Alad 15 fhamieR Uld 9e1 & 1fd A gRed 4 3RYdid Ugddl g 3R 394
3 4 e P < g3 ¢ | Afc 98 d15d WR 20 bl uid ger ot 71fd I Siidr a9 98
IR (B2 Siedl Ugd Sildl| gRed I SRYdId dd &l gl (bl H) Jd Pifeiu|

a) °
b) &
C) 5
d) 7
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A cylindrical tank of radius 7 m, if water is flowing at the rate of 35 m®/sec then
find the level of water raised in the tank in 11 minutes.

7 HIex (3591 &1 U §THIDR ¢d o, Fla Sd 35 HIEP/”Ad S ®l ax I Ydlied ol I8l
g, dl 11 AT U P 1 9¢ g4 9d &I WR J1d DI |

a) 140 m
b)160m
C) 150 m

d)155m
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A Firm, at the time of inflation reduced the staff in the ratio 12 : 5, and the
average salary per employee is increased in the ratio 9 : 17. By doing so, the
Firm saved Rs. 46,000. What was the initial expenditure (in Rs) of the Firm?
UPh HY-I 3 HaRBId & 09 12 : 5 & HU1d H HHAIRY] Dl HH HR (&1, 3R
i SHAR! 3T dd= 9 : 17 & 3Urd H d¢l g | UHT HR- A, HUH! 4 46,000 TG
Sd1U| HU-t BT URIHS T (39 H) T U1?

Rs. 216,000
a)

b) Rs. 90,000

C) Rs. 250,000

d ) Rs. 190, 000
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